ANTALNVUIY

(Tx— 5)(5x* — 7x— 7)

(-9 (5x—4)

(2 = 3x—3)(x— 4)

(8x + 5)(3x* — 5x— 5)

(8= 9x)(7x— 3)

Jun:

3+ 2 (9x—3)

(4x — 5)(4x2 —x—1)

(2 + 2x)(8x + 6)

(5x* — Tx— 7)(3x — 8)

(6+x") (6x—4)
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ASLLUU:




AR NHUIN

3E8

fia: Suii: ATUUY:
(7x— 5)(5x* — Tx— 7) 3+ 2 (9x—3)
35x° — 74x% — 14x + 35 0x® — 332 +27x— 9
(G- 92 (5x— 4) (4x = 5)(4x* —x— 1)
—45x° + 36x% + 15x— 12 16X — 24x* +x+5
(2% = 3x = 3)(x— 4) 2+ 2x)(8x + 6)
267 — 11x% + 9x + 12 16x> + 28x + 12
(8x+ 5)(3x* — 5x— 5) (5 = Tx = T)(3x — 8)
2453 — 25x% — 65x — 25 15x° — 61x% + 35x + 56
(8= 9x)(7x — 3) 6+ 2 (6x—4)
—63x” + 83x — 24 60 — 4 + 36x — 24
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